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g g ! :5 Answer ALL quest1ons -;’ o .
it ',5 ALL questrons carry EQUAL marksl R o

l The long run obJectlve;of Frnanc;al Management 1s to
Vo ‘(1) Maxnmze earnmgs per.share’ S /-i
LR (11) Max1m1ze the value of ﬁrm s. common stock ;

b S

2 Fmance functlons are
(1) Planmng for’ funds
(111) Allocatlon of lesources

s ':;(11) Ralsmg of'funds
: }-,-(IV) All of the abOve v * |

”""(1) Capltal expendltute EERA Sy R .;':}-(II)A 10n8 term, functlon <N
(111) Long term assets R -;(1v) All of the above Lo

SRR 4 What is the most 1mportant crxterlon 1n“cap1tal budgetmgo iy ,/_‘; {.‘:.:’, .
- (1) Payback pe11od . (11) IRR (m) NPV

S 5 In fmance worklng capttal means the same thmg as { | P
(1) Total assets : ;}L‘.; AT (11) leed assets j.:'
R (111) Current assets S R

6. The amount of temporary workmg capltal i o | i x
(i) keeps on ﬂuctuatmg fromtrme to tlme » (11) Remalns constant for all tlmes
(111) Fmanc1al throuOh long term serv1ces , v (1v) None of the above

7 Whlch> of the followmgfcosts of vcapltal requlretax‘adjustment‘7 , e
e (i) 'Cost of Equity capltal P PRI (11) Cost of Preference capltal
Dk | (111) Cost of Debentutes :

e _ 8 Cost of Caprtal 1s the_______ | rate of return expected by the mvestors
?j (1) Mmlmum R (11) Max1murn TEEIN
9 The formula forEBIl“~ RETP " L A ;'

'(11) Sales ~ ﬁxed cost R

(1) ‘Sales- var1able cost : e
(1V) All of the above S

& : (111) Contnbutton - hxed cost

\

lO Beneﬁt of Tladmg, on. equ1ty is avallable “ "‘~ L ; . 5 ‘L‘;‘ "-_]— B e
(1) Rate of intérest is; less than rate ofreturn e g IR R PRI S TR

RN * (ii) Rate of interest is mor ethan rate of return SR NEE \ EERET N KT
R0 (111)Both((1)and(b) T D T D

(1v) None of the above

IR Answer ALL Quest1ons SR

O AT I LLL Questlons Carry EQUAL Marks (5 X 7 35) L

11 a) Explam about Fmanc1al plan I S e E T T f N
R

L b) State brleﬂy the srcrmﬁcance of F1nancral Management S R TR SR




4 rugan Ltd., 1ssues 10 % 1rredeemable preference shares of the face value of 1
s’. 100-each. Floatlon costs’ estrmated at 5% of the expected sales: prlce 1. What is~
Jthe’ Kp »if preference shares are 1ssued at (1)par value,(n) 10 percent premlum and s
i), ' atlons ‘assumlng 14% :

Answer any,THREE Questlons %

'ALL Questlons Carry EQUAL Marks. (3 X 10 30)

i

L '7?."Ca1cu1ate the aver ge‘\rate of return for pro;ects A and B from the folloWrng .

‘_ PrOJect A Pro;ectB
Rs 20 OOO Rs 30 000 ~




